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Direction : Answer the following questions | fAzaf9r : >i3e Teg fdma s S amefe

by selecting the correct option. Teg wie |
1. Which one of the following is not 1. N @D BoTResY <R &% w2
the characteristics of accounting Prat
information? - s bl e
(A) Reliability (B) emiEFel
(B) Relevance (C) =PI
(C) Comparability (D) ©oR7 02 T

(D) None of the above

2. Double-entry system was introduced

2. SHAMR-ARE &fS a9 57 Zfea

in (A) N T LA
(A) America (B) ®emea
(B) Japan (C) 2Wifics
(C) Italy (D) BemR @ivE
(D) None of the above
3. The accounting standards are B :IT?\‘ j L GRS, Ot
intended to apply only to items SR, :
which are () e
(A) material (B) ¥% gwgd
(B) insignificant (C) PR W “ARoTAIn
(C) measured in terms of money (D) Tor oo o

(D) None of the above
4. Accounting principles are generally 4. SgRere e Afselr e =@

based on (A) IRgfRFe

(A) practicability 1 (B) Reafes

(B) subjectivity R

(C) convenience of recording © %

(D) None of the above (D) ToRAR CIFDR T
5. Which of the following is 5. s b BoiRewer A ke w2

not a fundamental accounting (A) T off o

assumption? S

(A) Going concern (B)

(B) Accrual (C) TFTel

(C) Conservatism (D) Tocas @i 8

(D) None of the above

6. Reemm R Mva @Eb we Tgo

6. The matching principle results from 3l

the (A) R IR

(A) periodicity principle
(B) realisation principle (B) WP A2
(C) financial transaction principle (C) e TR G
(D) None of the above (D) TR @IOR W
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7. The basic accounting equation is
(A) Assets = Expenses + Income
(B) Assets = Cash + Capital

(C) Assets = Capital + Liabilities
(D) None of the above

. A compound journal entry is with

(A) one debit entry and more than
one credit entry

(B) one credit entry and more than
one debit entry

(C) more than one both debit and
credit entries

(D) All of the above

A Trial Balance is prepared to locate
(A) errors of principle

(B) errors of omission

(C) compensating errors

(D) None of the above

Cashbook is an example of
(A) general journal

(B) special journal

(C) compound journal

(D) None of the above

. Bad debt recovered during the year
is a

(A) revenue expenditure

(B) revenue receipt

(C) capital receipt

(D) None of the above

Debit balance in the cashbook
means

(A) overdraft as per passbook

(B) overdraft as per cashbook

(C) credit balance as per passbook
(D) None of the above

7. weR @ Sl 2
(A) if& = 475 + 9F
(B) =& = 51 Brpl + o
(C) ™Af& = Yoigm + ¢
(D) T @mfbE 7w

8. T wcaw wiRken 2@ A
A) @3 ©RE ¢ aiFa wiie @b <
A

(B) = (&5 ¢ qraq widw wRb o
e

(C) W3 wRe (Sfb 8 G wite
@ @ A

(D) otz SR
9. @eUMRE eEe I =W Mvx @EH fze
TR S 2
(&) Mo pe
(B) =R 74
(C) TN T
(D) SR @2 W

10. MM 32 @ SR T Gift 2
(A) TR HCAw
(B) Rew sz
(C) = wcEm
(D) ®eoeaR @ﬂﬁ'&‘gg

11. SRS 49 FFACT ARTCF (Tl
=

(A) FITETOR <=5 RETA

(B) YrerETOm R R

(C) Femere SR Rema
(D) ®oram @R

12. SO IRCAR (SR coear =i Ze
(A) *IPRR =PI EuIfefie
(B) MR PR wfeie
(C) “IMRR WA (FCH (o
(D) TR @2
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13. Balances of Personal Account will be -

14.

15.

16.

17.

18.

/17

shown in

(A) Trading Account

(B) Profit and Loss Account
(C) Balance Sheet

(D) None of the above

What is the accounting nature of
outstanding expenses?

(A) Nominal Account
(B) Personal Account
(C) Real Account

(D) None of the above

Assets are held for the purpose of
(A) earning revenue

(B) resale

(C) conversion into cash

(D) None of the above

Depreciation is a process of
(A) valuation of asset

(B) allocation of cost

(C) maintenance of asset
(D) None of the above

Diminishing balance method of
depreciation is suitable for

(A) machinery
(B) copyright
(C) leasehold property
(D) None of the above

A bill of exchange payable after a
certain period is known as

(A) trade bill
(B) accommodation bill
(C) time bill
(D) None of the above

13.

14,

15.

16.

17.

18.

o= B ReEE R =/
(A) F9-Rew IR

(B) =s-wfe B

(C) T=é-*ta

(D) Tcaa @2 =W

(I LA RS 23S @ 2
A) fE R

(B) Ifes B

(C) s>l R

(D) ToiEam (IR

T 403 AN IR A
(A) SR wEi s
(B) *efR@cma s

(C) 7oIH AT FAR T
(D) Tocza (PR W

TN @ AfFm W W | =W G
2

(A) &3 A=

(B) UTHA IV

(C) ifea ATH

(D) Taa FMHE T

FRPIE (B fafere S8 (FF (Fa
o 2

(A) TFTS

(B) =g

(C) THRRS 7ife

(D) TR (@FFE T

i B 1 e e e O O 7
2f4TF 99 =

A) TS e
(B) rRIFAI 2%
(C) fsfes gfe
(D) ToaR @2 T
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19. While calculating the due date of the
bill, how many days are added to the
period of the bill?

(A) 3 days
(B) 4 days
(C) S days
(D) None of the above

20. Receipts and Payments Account is a
(A) Personal Account
(B) Real Account
(C) Nominal Account
(D) None of the above

21. Income and Expenditure Account
records transaction of

(A) revenue nature only

(B) capital nature only

(C) both capital and revenue natures
(D) None of the above

22. An ordinary partnership firm can
have

(A) not more than 20 partners
(B) not more than 50 partners
(C) any number of partners
(D) None of the above

23. A and B are sharing profits and
losses in the ratio of 3:2. They
admit a new partner C with %th

share in profit of the firm. The new
profit-sharing ratio between the
partners will be

(A) 10:8:5
(B) 8:12:5
Q) 7.:5:3
(D) None of the above

19.

20.

21.

22.

23.

47 bl emee e i s STm
=7 R R ATS Fofa @15 FICO
=2

(A) 3 =
(B) 4 fa=
(C) 5fm=
(D) oA @R T

5% ST -2 BT 2gem @
A) IfEs R

(B) Teife-a@m iR

(€) =f¥s 1"

(D) ¥z @ME

TN-IeR o aRye  EEemeER
= =

(A) 8 TIRFEICH

(B) By FITEISN

(C) TH% 8 FrF TewEIen
(D) TR PFIDE W

93D YR AR F1C WA 2
(A) 20 TR @ T

(B) 50 WCIR @A W

(C) w8 e

(D) o @R |

A G B 3 : 2 SIS AS- @A I
IR ORI C (@ L uLT S (SAR S

T SRR 2R T | HAACH
T [ TN IBCR oIS FA

(A) 10:8:5
B) 8:12:5
{C) 7:5:3
(D) Torcaa (@WvE T
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24.

25.

26.

27.

28.

29.
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In the event of death of a partner,
the accumulated profits and losses
are shared by the partners’

(A) old profit-sharing ratio
(B) new profit-sharing ratio
(C) capital ratio

(D) None of the above

Unrecorded liability when paid on
dissolution of a firm is debited to

(A) Partners’ Capital Account
(B) Liability Account

(C) Realization Account

(D) None of the above

The Consignment Account is made
on the basis of

(A) cash basis

(B) realization basis
(C) accrual basis

(D) None of the above

Goods costing ¥ 1,80,000 sent out
to consignee to show a profit of 20%
on invoice price. The invoice price of
the goods will be

(A) ¥2,16,000

(B) ¥2,25,000

(C) ¥2,40,000

(D) None of the above

Joint Venture Account is a
(A) Nominal Account

(B) Personal Account

(C) Real Account

(D) None of the above

A, B and C are co-venturers. The
relative profit-sharing ratio between
A and B is 3 : 2 and between B and
C is also 3:2. The profit-sharing
ratio between A, B and C is

(A) 3:1:1

B) 9:6:4

(C) 5:3:2

(D) None of the above
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24.

25.

26.

27‘

28.

29.

(2o IR i B ) R T B
G-I SRR (1 SIS 3%
A | 2

(A) R TSN ITCT TS

(B) TS AN IDCTA SIS

(C) T TS

(D) ToRIA TR

Y 28 A @ IR (e oo =
iz

(A) SEEmRTR g B

(B) Wicwa IR

(C) wmEFa R

(D) TR @R T

(A) =iom fefe ‘
(B) wmrRR fofe

(C) enepec fofe

(D) ®iza @b

PEM A1°RFCE 1,80,000 5 TAR oD
I A B oA TR 20% @S
CHIREH | AT BT Jo 23

(A) 2,16,000 5=

(B) 2,25,000 57

(C) 2,40,000 =l

(D) ToiAR (@EE T

@ Somel TR =em @3l
(a) =fie R

(B) Ifes IR

(C) F=ife->rgam R
(D) Teead @MibE 78

A, B @& C e (@i Trmsi | A @ B-
R WY AP A 3B A T
3:2 4R B S C-GAWWS 3:2. A B
R} C-«R T4 TSN IBTTR TS Al
{4 3;1:3

B) 9:6:4

C) 9:3:2

(D) TR @R T




30.

31.

32.

33.

34.

35.

The capital at the beginning of
the accounting year in case of
single-entry system is determined by
preparing

(A) Opening Balance Sheet

(B) Cash Account

(C) Opening Statement of Affairs
(D) None of the above

Which of the following capitals is
not shown in the company’s Balance
Sheet?

(A) Authorized capital

(B) Issued and subscribed capital
(C) Reserve capital

(D) None of the above

Share having preferential right as
to dividend and repayment of capital
is termed as

(A) equity share

(B) preference share
(C) right share

(D) None of the above

Share Application Account is a
(A) Nominal Account

(B) Personal Account

(C) Real Account

(D) None of the above

The portion of the authorized capital
which can be called up only on the
liquidation of the company is called
(A) issued capital

(B) called-up capital

(C) reserve capital

(D) None of the above

The minimum share application
money is

(A) ¥ 1 per share

(B) 5% of the face value of shares

(C) 25% of the nominal value of
shares

(D) None of the above

30.

31.

32.

33.

34.

35.
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TR o Fdfwer wew @b ome
IS ] CIM =@

(A) erHiee Tas -+

(B) 7w B

(€) =S W wEm @

(D) Toraa @2 T

TG W A1 2

(A) SIS e

(B) Rferen ¢ s 1@

(C) IRMRFS e

(D) TR (@R W

TN ITA ¢ CRTAR oAve uY (FAS
AT CHFCA @A CIA JARPR (o0 AT
i 2z

(A) TR CRIR

(B) fEFRYE AR

(C) wiEFRYE CEA

(D) TR P W

CRR ST IR 20T @9l
(A) M R

(B) Ife=s oM

(C) afs-mam BoiR

(D) Toead @R

S YA @ WP WY
@R SRR TR SR 3 W

ol 2l

(A) Rferge o=

(B) ©#A JAE

(C) IafFe FIew

(D) SR @A T

CTI SICIMCA] &) sferen Wl “Afe
m s
(A) o afs 1 5

(B) cvarcan e yeemm 5%
(C) CRITER SR AR 25%
(D) TR (PFHE T
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https://www.freshersnow.com/previous-year-question-papers/



36.

37.

38.

39.

41.
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Public Limited Company cannot
issue

(A) equity share

(B) deferred share

(C) preference share

(D) None of the above

Premium on issue of shares can be
used for

(A) issue of bonus shares

(B) distribution of profit

(C) transferring to general reserve
(D) None of the above

Subject to the permission allowed by
the Central Government, the
maximum allowable discount on
equity shares is

(A) 5%

(B) 8%

(C) 10%

(D) None of the above

Preference shareholders are
(A) creditors of the company
(B) owners of the company
(C) debtors of the company
(D) None of the above

If a share of ¥ 10 on which ¥ 6 has
been paid, is forfeited, it can be
reissued at the minimum price of

(A) ¥4 per share
(B) ¥ 6 per share
(C) ¥ 8 per share
(D) None of the above

A company cannot issue redeemable
preference shares for a period
exceeding

(A) 6 years
(B) 8 years
(C) 10 years
(D) None of the above

|

36.

317.

38.

39.

41.

(R fafiche @@l @ crr [
FACS A A S A

(A) SR CHR

(B) Refds crma

(C) =enfdary® R

(D) TR I |

itz Rfge crmm wigm wd @
e AR 9 A ) A

(A) QAP errR R =

(B) =rene Brwa 3% 33

(C) TR S FFea 1

(D) T @EivE |

FER RICAA WA FOS YR
CRICAR CHCE ST TR AR 2gen
(A) 5%

(B) 8%

(C) 10%

(D) T (IR T

SEFRYS T erealel o

(A) AR “TeTmE

(B) @r=efag qfers

(C) A=A ¢

(D) Seogaa @R

10 B AR @ AR 6 O (7eW
TR, O M ICEN FA W, SR PASA
T o7 I R T AW 2

(A) R 2fS 4 B

(B) c”a 2fS 6 B

(C) crma afs 8 B

(D) Tocaa @R

@R SRIRE AR g
cwa e ST K =

(A) 633

(B) 8 9=d

(C) 10 3R

(D) THHA LR T
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42.°

45.

46.
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Which of the following can be
utilized for the redemption of
preference shares of a company
out of profit?

(A) Share Forfeited Account

(B) Employee’s Accident Fund
(C) Dividend Equalization Fund
(D) None of the above

Loss on issue of debenture is
treated as

(A) intangible asset

(B) current asset )

(C) miscellaneous expenses
(D) None of the above

If debentures of nominal value of
¥ 1,00,000 are issued at a discount
of 10% for net assets worth of
¥ 80,000, the balance of ¥ 10,000
will be debited to

(A) Goodwill Account

(B) Capital Reserve Account
(C) Profit and Loss Account
(D) None of the above -

The balance of debenture sinking
fund after redemption of debentures
is transferred to

(A) Profit and Loss Account
(B) General Reserve Account
(C) Debenture Account
(D) None of the above

The medium which provides a
snapshot of the financial condition
of a firm at a particular point of
time is

(A) the Balance Sheet

(B) the income statement

(C) the statement of cash flow

(D) None of the above

42.

43.

44,

46.

@A @R SReRgE CER
AR (FCE oced O Reme S
@ 2@ TR FACS AT ?

(A) CTR ITTEFA IR

(B) TRl 7o w2

(C) TSN-STIFAFIA T2

(D) TocEa (FFLE W

Y R[Rm S e @ s
ReiR 10 31 =W 0 2@

(A) SopfaR oS

(B) voife =i

(C) Ry <=5

(D) TR @M T

I 10% SR 1,00,000 TR AR
AR 4991 80,000 S Ao 1w

ww RfE 321 =, =3 IF 10,000 T
(SR T4 23 @ B o =@

(8) TR

(B) oo el R
(C) @rs-cERiF 25

(D) Tfcaa @R

b B 17 e - R = OO e R E e
TERAA (R T A W

(A) #Te-CERTH R

(B) e S B

(C) wreia omea

(D) o @EHE W

@l @3 e Sy Rees w1l wifds
SRR G0 e $ee $9 MW 2l
(A) Tmé-o@

(B) = f&==dt

(C) o 2Rz R

(D) TR @HDE
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47. Trends of which sector of business | 47. W% RFNGER AR NG TSR @

are highlighted by comparison of fralba a3l o1 w1 = it =een

financial statements? (A) FrEd

(A) Activity (B) =¥ ==

(B) Financial position (C) wi¥® @™

(C) Financial transactions (D) TR @S

(D) None of the above

48. @ wife R afdcaea b e

48. A financial statement that shows NTFq O3 xiﬁ e o s - ==

both rupees and percentage in

the report is referred to as a (A) TEb-of@

(A) Balance Sheet

(B) common-size statement

(C) realtime statement of equity
(D) None of the above

(B) yR-wgpfen Rz
(C) wRe- e TRl R
(D) TR @MDE T

49. JRI-IFfeA e R W @
49, Common-size financial statement
makes it easier to compare firms RO PGS gl 41 528 o] 2

(A) of different sizes (A) Rfea spfen =
(B) in different industries (B) ez =&

(C) with different degrees of leverage (C) Torerarem Rfea
(D) None of the above (D) oz (PBE

50. wiiYe ReER o gogEe oRCEm

50. A technique uses in comparative

analysis of financial statement is PR ) IRGS IO (I A
(A) graphical analysis (&) foacern-sices “wfema
(B) preference analysis (B) wefdemR oficarm-
(C) common-size analysis (C) TSP *RACaADI
(D) None of the above (D) Toraa R W

51. Debt-equity ratio is a/an 51. CPll-NIeTR1 SFPITS el 3
(A) solvency ratio (A) ST TS
(B) turnover ratio (B) SRS SIS
(C) efficiency ratio (C) TSI SPTS
(D) None of the above (D) T @b T

52. The best ratio to evaluate short-term | 52. FERAN SFeTe] “fRAEA CFH COE
liquidity is PRSI TS 2l
(A) current ratio (A) TS TS
(B) working capital ratio (B) IR FoALH SIS
(C) debt-equity ratio (C) CTI-NIfFPR SIS
(D) None of the above (D) Tofcaa (PR =W
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e

53. Current ratio is 3 : 1 and quick ratio
is 1'5:1. What is the value of
closing stock if current liabilities
are ¥ 1,80,000?

(A) ¥2,40,000
(B) ¥2,50,000
(C) ¥2,70,000
(D) None of the above

54. Which of the following is a source
of fund?

(A) Issue of bonus share

(B) Issue of shares
purchase of fixed assets

(C) Conversion of debentures into
shares

(D) None of the above

against

55. Increase in stock at the end of the
year results in the

(A) application of fund
(B) source of fund
(C) No flow of fund
(D) None of the above

56. Sale of
indicates
(A) source of fund
(B) application of fund
(C) change in current assets
(D) None of the above

long-term investments

57. Cash flow statement is based on
(A) cash basis of accounting
(B) accrual basis of accounting
(C) credit basis of accounting
(D) None of the above

58. Which of the following
application of funds?

(A) Payment of dividend on share
capital

(B) Payment of tax

(C) Increase in working capital

(D) None of the above

is not

11

53.

54.

55.

56.

57.

58.

S TS 2@ 3: 1 3R SR SIS
e 15: 1. W wife (WR AR
1,80,000 Brl 2¥, G RN TSI
0 3

(A) 2,40,000 5

(B) 2,50,000 B

(C) 2,70,000 B

(D) T @M

v e S=f[em T @ A 79
=7

(A) QWM CRIR R

(B) TW F=ifex «ifdacs crm R

(C) ATACF A ARIE 31

(D) ToEm @A W

I ORI Tg© G R I
©IRE @ TSR FTA O ZE

(A) SZReER IR

(B) ©XfAce T

(C) S2RTE @A 2R T

(D) ©oRR @FE
e wfc Rftw o @b e =
el T

(A) SRR T

(B) w2ReR I/=W

(C) ol =aifea =R fRae

(D) TocR (IR W

o 2R AR fofe =

(&) 7w fefers Romesd

(B) aep evm fefers o
(C) uwcaA ffars o«
(D) ToCAR ML T

MNea @ w2l 392 Rew 90 =
Cik:

() TR T TSN &I
(B) =9 &=

(C) TR yAgeTs I

(D) TN @FWIL2 T8
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59.

60.

61.

62.

63.

64.
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Cash from operation =

(A) Net oprofit + Increase
outstanding expenses

in

(B)
(C)
(D)

Net profit + Increase in debtors
Net profit + Increase in stock
None of the above

Increase in the amount of bills
payable results in

(A) increase in cash
(B) decrease in cash
(C) no change in cash
(D) None of the above

Cost accounting conéepts include all
of the following, except

(A) planning

(B) profit sharing

(C) controlling

(D) None of the above

The main purpose of cost
accounting is to

(A)
(B)

(©)

maximize profit
aid in fixing selling price

provide information to

management for decision

(D) None of the above

Costs which are ascertained after
they have been incurred are known
as

(A)
(B)
(©
(D)

imputed cost
sunk cost
historical cost
None of the above

The three major elements of product
cost are all, except

(A) direct materials

(B) indirect labour cost
(C) factory overhead
(D) None of the above
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60.
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(D) ToicEa (bR T
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SFEE T ?

(A) fRFEA

(B) TARF 357

(C) Trmd

(D) Tz @R
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(A) TR SR
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(C) afezPr Im
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(C) FrRYF TR I
(D) Tofraa @R
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65.

66.

67.

69.

70.

Period costs are
(A) variable costs

(B) fixed costs

(C) overhead costs
(D) None of the above

Prime cost plus variable overhead is
known as

(A) production cost
(B) total cost

(C). marginal cost

(D) None of the above

Direct labour cost forms the part of
(A) prime cost

(B) factory overhead

(C) administrative overhead

(D) None of the above

A cost per unit which increases or
decreases when volume of output
decreases or increases is known as

(A) fixed cost

(B) variable cost

(C) semi-variable cost
(D) None of the above

Process costing is applied in
(A) collieries

(B) transport operations

(C) hospital works

(D) None of the above

A process loss that does not affect
the cost per unit is

(A) abnormal loss

(B) normal loss

(C) standard loss
None of the above
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71,

72.

73.

74.

75.

/17

Contribution margin is also known
as

(A) gross profit
(B) net profit
(C) marginal income

(D) None of the above

Profit/volume ratio is an indicator of
(A) the volume of sales

(B) the volume of profit

(C) profitability

(D) None of the above

When P/V ratio is 40% and sales
value is ¥ 10,000, the variable cost
will be

(A) ¥ 4,000
(B) ¥ 6,000
(C) ¥ 8,000
(D) None cf the above

When fixed cost is ¥ 10,000 and P/V
ratio is 50%, the breakeven point
(BEP) will be

(A) ¥ 20,000

(B) ¥ 40,000

(C) ¥ 50,000

(D) None of the above

If net profit is 10% and P/V ratio
is 50%, the margin of safety will be
(A) 10%

(B) 20%

(C) 50%

(D) None of the above
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75.
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(A) GG TS

(B) o =re
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= 9

(A) ez =«
(B) SARPR *ffR1el
(C) TS

(D) ®oaR @R W

T S-S IS T 40% IR
R&¥wr T = 10,000 PR, =%
+fRTE T 23

(A) 4,000 51
(B) 6,000 5=
(C) 8,000 B
(D) TR @R W

9w fF@ I/ W 10,000 TR @R
- TS =W 50%, T3 SWRER
% =3

(A) 20,000 BRI

(B) 40,000 5

(C) 50,000 B

(D) Toeaa @MIbE W

I A TR W 10% IR AR
TS W 50%, oXW fRrem S
[

(A) 10%
(B) 20%
(C) 50%
(D) ToAR FPEOE T
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7,

78.

79.

80.
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The term ‘audit’ originated from the
word

(A) adhere

(B) audire

(C) addition

(D) None of the above

Audit is a fact-finding process that
compares actual results with

(A) specified standards and plans
(B) expected result

(C) preliminary result

(D) None of the above

The audit which is compulsory by

law is known as
(A) interim audit
(B) internal audit
(C) statutory audit

(D) None of the above

The main object of an audit
(A) is expression of opinion

(B) is detection and prevention of
fraud and errors

(C) depénds on the type of audit
(D) None of the above

Internal audit is
(A) internal control
(B)

(C)

annual audit
statutory audit

(D) None of the above
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81.

82.

83.

84.

85.

/17

Internal checks usually operate

(A) before the processing of a
transaction

(B) as a part of the processing of a
transaction

(C) after the
transaction

(D) None of the above

processing of a

Test checking implies

(A) checking only a few items in
detail

(B) checking each and every item

(C) checking a
sample of items

representative

(D) None of the above

Before the commencement of audit
work, the auditor plans out the
whole of audit work is called as

(A) audit programme
(B) audit notebook
(C) audit plan

(D) None of the above

A number of checks and control
exercise in a business to ensure its
efficient working is known as

(A) internal control
(B) internal audit
(C) interim audit

(D) None of the above

The essence of auditing is
(A) internal control system
(B) investigation

(C) vouching

(D) None of the above
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86. The case history of Kingston Cotton

87.

88.

89.

’ 90.

/17

Mills Company Ltd. is associated
with the auditor’s duty regarding

(A) valuation of goodwill
(B) valuation of stock

(C) valuation of
machinery

(D) None of the above

plant and

Cost audit means

(A) audit of cost accountant
(B) audit of cost of production
(C) audit of cost accounts

(D) None of the above

What
imply?

does management audit

(A) Complete audit
(B) Interim audit

(C) Efficiency audit
(D) None of the above

The audit which refers to the
evaluation of company’s performance
against planned goals in the areas of
social responsibility is

(A) cost audit

(B) social audit

(C) environment audit

(D) None of the above

When in the auditor’s opinion the
statements do not present a true
and fair view of the financial
position, the auditor will express

(A) an adverse opinion
(B) a qualified opinion
(C) an unqualified opinion
(D) None of the above
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92.

93.

94.

95.

/17

The two broad categories of business
activities are

(A) trade and commerce

(B) trade and industry

(C) industry and commerce

(D) None of the above

The oldest
organization is

form of business

(A) sole proprietorship

(B) partnership

(C) joint-stock company

(D) None of the above

Which of the following does not
characteristic of business activity?

(A) Production of goods
services

and

(B) Sale and exchange of goods and

services
(C) Recurrence of transactions

(D) None of the above

Commerce is related to

(A) production of goods

(B) exchange of goods

(C) providing services

(D) None of the above

Which of the following cannot

be classified as an objective of
business?

(A) Investment

(B) Productivity

(C) Profit earning

(D) None of the above

18
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96. Business risk is not likely to arise | 96. RIS IR ¥ @ I=I = A @
due to E1C|
(A) change in government policy (A) R T oA
ﬁ (B) good management (B) SITa IRFIH
(C} dj.ShOIleSty of employce (C) W Lo IGIO)
(D) None of the above (D) ®ocaR @R W
97. Which of the following cannot be
classified as an auxiliary to trade? 97. A WL IPM RS AT i
FAIAA?
(A) Warehousing
(A) SBATESFE
(B) Transport
B) “fdazw
(C) Insurance (B)
(D) None of the above © b
(D) Tz @i T8
98. The legal business entity that is
separate from its owners and 98. (¥ WHTHT IR FF OR EE S
o IRERTR (ACF A S 2
(A) sole proprietorship (A) R
(B) general partnership (B) el SR
(C) limited liability company © fR A 5
(D) None of the above -
. (D) TR (FALR &
99, Which of the following is
not a constrain of business 99. Tr5a @FFH IFAA fREY THAW ’Iﬁ
environment? FEA?
(A) Capital (A) T
(B) Unskilled management (B) 7% IREIHI
(C) Lack of technical knowledge (©) m o
} (D) None of the above (D) TIER DR
; 2
100. Which of the following is not a
financial instrument? 100. oA (I WA o 7 2
1» (A) Treasury bill (&) G R
1- (B) Real estate (B) Ruwreifa
|
(C) Mortgage loan (C) =fFge 944
(D) None of the above (D) oA (FWIE W
/17 [ P.T.O.
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101.

102.

103.

104.

105.

/17

Financial instruments with
maturities of less than one year are
traded in the

(A) money market
(B) capital market
(C) equity market
(D) None of the above

Which of the following is a money
market instrument?

(A) Equity share
(B) Debenture
(C) Commercial paper

(D) None of the above

Which one is not the component of
capital market?

(A) Equity market
(B) Debt market
(C) Derivative market

(D) None of the above

Capital market is regulated by which
of the following organizations?

(A) SEBI
(B) RBI
(C) IRDA

(D) None of the above

SENSEX is an index of
(A) NSE

(B) BSE .

(C) CSE

(D) None of the above

20

101.

102.

103.

104.

105.

Wi e @GR AR o W @
TR A CIBTEA (T W

(A) DR IEIR
(B) I reICA
(C) 2o remea
(D) TRA @AM T

T W2

(A) T3 crm

(B) Rwwm

(©) ffeme s
(D) oRR IR W

A @A JAE AR T W 2
(A) T ISR
(B) 4 A=A

(€) TEgS ImR
(D) Torma @R ™

TE IR @ A AR e = e
2

(A) SEBI
(B) RBI
(C) IRDA
(D) Toa PR T

SENSEX @ 3[R 53 1 Zal
(A) NSE
(B) BSE

(C) CSE

(D) ®oiR @R T :

—

https://www.freshersnow.com/previous-year-question-papers/



106. Who is called the father of scientific | 106. (IEIF IFEIFH T IICF o0 =W ?
management?

(A) Elton Mayo

(A) Elton Mayo

(B) Henry Fayol

(C) Frederick W. Taylor
(D) ToRA (FOR 7

(B) Henry Fayol
(C) Frederick W. Taylor
(D) None of them

107. Luther Gullik and Lyndall Urwick 107. Luther Gullik €% Lyndall Urwick

classified the function of TR FECE @ ofafece il Rew
management as FCACRA O Al

(A) POSDCORB (A) POSDCORB

(B) POSTCARD (B) POSTCARD

(C) POSDCORA (C) POSDCORA

(D) None of the above (D) o @HbE W

108. How many principles of management
have been propagated by Henry | 108. Henry Fayol I®IN ¥ Aex Fret

Fayol? _ FCA (51C—A ?
(A) 12 principles A) 12 6 NS
(B) 14 principles B) 14 5 TS
(C) 15 principles (©) 15 % S
(D) None of the above (D) oA @R T

B oo 19 ROt R | 100, e carL e s 3 .
(A) Planning (A) s
(B) Staffing (B) R fAcae
(C) Co-operating (C) el
(D) None of the above (D) ToRR @S T

110. Human ; e‘;'eli;uons approach is S W .
(A) F. W. Taylor (A) F. W. Taylor
(B) Henry Fayol (B) Henry Fayol
(C) Max Weber (C) Max Weber
(D} None of them (D) ot (TR T

" e 21 [ P.T.0.

e —————————
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111. Which of the following functions is

112.

113.

regarded as the essence of

management?

(A) Planning

(B) Organizing

(C) Co-ordination

(D) None of the above

Which is the major issue faced while
doing manpower planning?

(A) Type of informations used in
making forecasts

(B) Types of people to be hired

(C) Multiple positions to be filled
(D) None of the above

The area not covered in industrial
relation is

(A) economic development

(B) role of management,
union and Government

trade

(\®)
(D)

collective bargaining

None of the above

111.
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113.

MR @R I IFFER B
7

(A) s

(B) oA

(C) A

(D) T (PR W
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(A) wefAfes Taaa

(B) IRFAR 3, =R ke e
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(C) A FIFR
(D) ®ocaa @2 =W

114. The objectives of trade union do not | 114. =R R SrweR W @ Rl

include TEHE T O Al

(A) employee’s compensation (A) FHRE ‘ﬁﬁi’[.q‘!

(B) working condition (B) Fced “fdcam

(C) recognition and participation (C) == 8 ‘?I?F@ﬂﬂ

(D) None of the above (D) To33 @HvE T
115. Modern marketing is 115. wyfe Rerem ==

(A) priceoriented (A) 0 fréq

(B) product oriented (B) =i s

(C) consumer oriented (€) cere fFign

(D) None of the above (D) Tz @vE T
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116.

Good marketing is no accident, but
a result of careful planning and

(A) selling
(B)
©
(D)

execution
strategies

None of the above

117. The promotion of ‘P’ of marketing is

118.

119.

120.

also known as

(A) product differentiation

(B) distribution

(C) marketing communication

(D) None of the above

From buyer’s point of view, product
is considered as

(A) customer’s cost

(B) customer’s solution

(C) customer’s communication

(D) None of the above

In marketing theory, every

contribution from the supply chain
adds

(A) value

(B) cost

(C) ingredient

(D) None of the above

According to four P’ of marketing,
credit term can be classified as

(A) place

(B) product
(C) price

(D) promotion

117.

118.

119.

120.
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121.

122,

123.

124.

125.

Which of the following is a quadratic
equation?

@A) x%+2x+1=(4-x)%+3
B) -2x2 = (5- x)(2x-2)

© x3-x%=(x-1)>

(D) None of the above

A sum of money at simple interest
amounts to ¥ 2,240 in 2 years and
¥ 2,600 in 5 years. The principal
amount is

(A) ¥ 1,500
(B) ¥ 2,000
(C) ¥2,500
(D) None of the above

The compound interest on ¥ 7,500
at 4% p.a. for 2 years computed
annually is

(A) ¥610
(B) ¥612
(C) ¥#614
(D) None of the above

15% of 34 is

(A) 5-10

(B) 4-10

(C) 310 ,
(D) None of the above
How many terms are there in
20, 25, 30, ..., 140?
(A) 22

(B) 24

(C) 23

(D) None of the above

https://www.freshersnow.com/previous-year-question-papers/
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123.

124.

125.

Tva @wD fBars saad 2
A) x2+2x+1=(4-x)%+3

(B) -2x2 = (S-x)(2x—-25»)

© x3-x*=(x-1)°
(D) Tocza FFE =W
g Dree T 07 2 ™A 2,240 B @2

5 I 2,600 BF A APCAI AR
Ll

(A) 1,500 Bl

(B) 2,000 B/l

(C) 2,500 B

(D) Totaa P

7,500 PR IRF 4% TR 2 IR
v o

(A) 610 B

(B) 612 5=
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(D) Tecam WL W

34-97 15% TN

(A) 510

(B) 410

(C) 3-10

(D) TR @GR T

20, 25, 30, ..., 140 *ff3 4% /A

FSHCE Y| R ?
A) 22

B) 24 6
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126.

127.

128.

24,

129.

130.

Find the value of k for which the
quadratic equation 2x3 -kx+k=0
has equal root.

(A) 5,0
(B) 10, O
(C) 0, 8
(D) None of the above

The mode of the numbers

4 30,7, th, 7. 87573
is

(A) 3
B) 7
(C) 15
(D) None of the above

Which is the range of salary of
10 persons given below?

18, 25, 16, 20, 28, 22, 17, 21, 27
(A) 12

(B) 6

C) 8

(D) None of the above

Assumption in calculating annuity
is that every payment is

(A)
(B)
©
(D)

casual
different
nominal

None of the above

Series of payments made

periodically is classified as
(A)
(B)
(©
(D)

effective payment

annuity

marginal payment
None of the above

126.
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| 128.

24,

129.

130.

k-9 (@F WeR wen e WaeRd
2x3 - kx+ k = 0 59+ 3% A2

(A) 5,0

(B) 10, O

(C) 0, 8

(D) oz (IR T8
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FRMBTAR FRANSF 20
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() 15

(D) Teofcaa (@R W
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F5?
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131.

132.

133.

134.

135.

/17

Index for base ‘period is always
taken for

(A) 100

(B) 500

(C) 1000

(D) None of the above

The weighted mean for 2, 5, 9, 11
with respective weights 8, 7, 3, 2 is

(A) 7
(B) 8
(C) S
(D) None of the above

The value of 28% of 450+ 45% of
280 is

(A) 262
(B) 252
(C) 242
(D) None of the above

The median of the numbers 33, 86,
68, 32, 80, 48, 70 is

(A) 96
(B) 68
(C) 32
(D) None of the above

The addition and multiplication
of roots of the quadratic equation
3x2-4x+5=0 are

(A)

-

(B)

(©)

0O pHlw Wlp
®IN nw wlw

(D) None of the above

131.

132.

133.

134.

13S.

oeFd fofers om0 @ | @
2

(A) 100
(B) 500

(C) 1000

(D) Toa @ibE

AP WSl 2, 5, 9, 11 R T
SRYEA INFCH 8, 7, 3, 2 LA SYE
A 1% TR

(A) 7
(B) 8
€ S
(D) TR @G T

450-499 28% + 280-99 45%-99 9H
e

(A) 262
(B) 252
(C) 242
(D) TR (@R

33, 86, 68, 32, 80, 48, 70 ’I-
BTAR NG 2

(A) 96
(B) 68
(C) 32
(D) Togaa @mibe

fRgre WA 3x2-4x+5=0-91
As=Eza @9Fe 8 BIFH A

(A)

(B)

-

(C)
(D) ®ozm @i T

@WIO plWw W|p
XN njw wln
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136.

137.

138.

139.

The law of demand is applicable to
(A) Giffen goods

(B) inferior goods

(C) normal goods

(D) None of the above

Price elasticity of demand of product
will be more inelastic if

(A) it has no substitute

(B) it has number of substitutes
(C) it is life-saving product

(D) None of the above

When average remains

fixed, then

revenue

(A) AR > MR
(B) AR < MR
(C) AR = MR
(D) None of the above

Which of the following is not a factor
of production?

(A) Land

(B) Bank loan

(C) Capital

(D) None of the above
Diminishing marginal returns imply
(A) decreasing average variable cost
(B) decreasing marginal cost

(C) increasing marginal cost

(D) None of the above
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137.
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139.
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IR N R IR R o =W
o A

(A) foces =

(B) forgB =1

(C) R *p

(D) Toam @R T

Al R iR wwere Rfememe
I @ wiEfogieR =8 3=

(A) @1e Re® o 1 A

(B) «3Ifds s o0 acs

(C) *i0 SR=wHE =0

(D) o @I T

I3 S @RAT (AR) &R Ui, o2
(A) AR > MR

(B) AR < MR

(C) AR = MR

(D) T AR T

ﬁmmﬁ%«wtﬁmw:’
(A) f
(B) A 49

(C) =
(D) ToEa @AE W

FRPEF oS ofom ot 3w
(A) TS *RIETN I8 ZPISF

(B) erfes I ZPIE

() enfew 3w e

(D) Toam @R W
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141. At break-even point 141. >WRER e
(A) Total expenses = Total revenue (A) GG ¥ = B R
(B) Total expenses < Total revenue (B) CIIB ¥ < (Wb TA
(C) Total expenses > Total revenue (C) % ¥FE > @6 W
(D) None of the above (D) TR @2 T
142. Which (?f . the following is a 142. Sa @Rl Tf SsraareT -
characteristic of perfectly o2ty 2
competitive market? -
(A) Firms are price setters (A) T R 7 R
(B) There are few sellers in the (B) e WP Rewrer A
ik (C) TG @ CIC FCH O 2T
(C) Firms can exit and enter the GR AFH FAC© AR
ket freel
market ireely (D)% - % am
(D) None of the above
_ . 143. 337 g v T e Piesm A
143. If a few firms dominate an industry, GFfere RER 9@, O O =
: the market is known as i
(A) monopolistic competition (&)
(B) oligopoly S mﬁ
(C) duopoly (©) mqﬁ
(D) None of the above (D) TR CFALR T
144. In the short-run, when the output | 144. TEI@M WA IF @A FH LI
of a firm increases, its average Seorm I 7, o4 o fEm AW '
fixed cost A) weRafs ace
(A) remains constant
= (B) 3 *®
ecreases
_ (C) I =m
(C) increases % "
D) Tt T
(D) None of the above D)
145. In classical theory, interest is 148,.. b by T
explained as a CHCR @1 2=l
(A) reward for saving (A) FI¥FCR 7[R o1
(B) reward for inconvenience (B) wﬁm pREIES Begie
(C) reward for risk bearing (C) I = ~7FR RBoTa
(D) None of the above (D) Toitaa @E ™
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147.

148,

149,

150.

146. Which of the following is not, by

definition, equal to national income?
(A) National wealth

(B) National output

(C) National expenditure

(D) None of the above

The difference between GNP and
GDP is

(A) gross domestic income
(B) total investment

(C) net income from abroad
(D) None of the above

Which of the following equations is
not true?

(A) APC + APS =1
(B) MPC + MPS = 1
(C) APC + MPC =1
(D) None of the above

Which of the following is not an
investment?

(A) Construction of factory building
(B) Issue of new shares

(C) Increase in inventories

(D) None of the above

Marginal product is :

(A) Rate of which total production
changes with change in variable
input

(B) Rate of which total production
changes with change in total
cost

(C) Rate of which total production
changes with change in fixed
cost

(D) None of the above

146.

147.

148.

149,

150.

e @ Mes @b wen weR
S 7?2

(A) ST oo

(B) wToR Beomw

(C) =T I

(D) TR (IR T

GNP 8 GDP-43 W4 123 e
(A) % weR SR

(B) 16 =}

(C) 6 e =

(D) Tocam (@fbE 7™

A @ A9 T 7 2
(A) APC + APS = 1
(B) MPC + MPS = 1
(C) APC + MPC =1
(D) TR @ibE @

MNesa @M =1l w2

(A) FRAER G A0 fefiel
(B) =7 R Rf#

(C) TES *TA I

(D) Toraa @R

A% Teoqme e

(A) *RETRE SR AR TR
@ TR @6 Teor oS =m

(B) b I “fAAER H @ TR Ao
oo AR =

(C) T It s % @ @ @
Teorm ol =

(D) Toraq @FWE
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
Frafefire Fotr e 30 g :

1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable
to be changed.

e o Ter B @ vl Rew rew MR 1 (0T BT wE Y@M @fiftes OMR YeRena crem 3el InAn
TP o WA FTAACe I A PofET e T3 1| o R Tan ke w3 ww oe o W\ e Fm @ A
2. The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks

on the OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the
OMR Answer Sheet.

*RFAR (FFESIE OMR Teao@f Sr& 3303 71 | OMR TB°0E (FHEIFT 7191 FB1 I ¥ (1 I A1 | AW
SO @ 79 TEaena e 39 SR e o @Ee wHem e A

3. Handle the Question Booklet and the Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set will be provided.
OMR TER°[@ G IR IFA RS FFS FI7F IS T | (IAe TIENSR (Y79 T ¢ “rfesrs @ ww)
OMR T@2°1@ '8 2PI°f@ *IIT*5 C7&T I3 1 |

4, The candidates will write the correct Question Booklet Number and the OMR Answer Sheet Number in
the Attendance Sheet.

WHCEH M5-q S OMR TEoaR 799 938 2P 7R fgerecs free =3 |

5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager,
mobile phone, electronic devices or any other material except the Admit Card and Photo Identity Card
inside the Examination Hall/Room.

RwECE STCRD F1E I TTH! WRCTADD S TET S (IS WO I (771 FIoMw, 2157 € JHTHS T, (fHH, T
FF, T (FASTIN FRS S e+ 20 /30T ot IS (Reu A AT

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

A 7 TSR IS 3 <A @ewd ez ~Rrw-ifiR wite R o¢e Wik 331 == aroe A S wrefin
FE '8 FLH! WELTALD IIE (RS Y AR |

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should leave
his/her seat.

CTOR Ao 31 Tfefnata-an Rem wEfe we A «Frw 2o $" 7R 7w ~Rads F90e @ =)

8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first
after taking their seats in the Examination Hall/Room and second at the time of handing over their
OMR Answer Sheet to the Invigilator.

. CrSTl SINHCEM D IR TrHA FAC A, AR AW LA SO PR TR R 92
falam Tefretag e OMR T&a @ w91 (reum 1WA |

9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer
Sheet to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has
not signed the Attendance Sheet a second time will be deemed not to have handed over the Answer
Sheet and dealt with as an unfair means case.

WLHeEn Ab-9 BIM TFL I R FEIAS T GCe09-97 S Teaem w crew IS e AW AW ==
FACS AR A | A @S Arwd Wehren MAo-9 PRAM T 7 FEF 903 R SR OMR TERe@ w1 FEAR 1A 910
A G O oS I R @I

10. Use of any type of calculating device is prohibited.
@ RS R IR JIZA Tpefae FifdE |

11. The candidates are governed by all rules and regulations of the Board with regard to their conduct in

the Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations
of the Board.

w1 == /3I087 Wy AR WA @nda e P SRl vl w3 ) R wew wo9fte I @ndr frw e
i S AR 73

12. No part of the Question Booklet and the OMR Answer Sheet shall be detached under any
circumstances. )
@RS SRR 2 99 OMR THRCET (IS W (RS J1 WEAHI 31 I3 1 |

13. On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in
the Hall/Room. The candidates are allowed to take away this Question Booklet with them.
“{R1 CT8 RSTR °1C7 AW SR $W OMR Toe1al IS TSGR IR o1 (e | Ay o eprerafl S

ARY PR e A
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